

$$\textcircled{4} \quad \frac{5x^2 + 2}{x(x^2 + 2x + 2)} = \frac{A}{x} + \frac{Bx + C}{x^2 + 2x + 2} \quad \textcircled{2}$$

$$\Delta = 4 - 4 \cdot 1 \cdot 2 < 0$$

$$\left(\begin{array}{l} \text{in } ax^2 + bx + c \\ \Delta = b^2 - 4ac \end{array} \right)$$

$$\frac{5x^2 + 2}{x(x^2 + 2x + 2)} = \frac{A(x^2 + 2x + 2) + (Bx + C)x}{x(x^2 + 2x + 2)}$$

$$5x^2 + 2 = A(x^2 + 2x + 2) + (Bx + C)x$$

$$5x^2 + 2 = (A+B)x^2 + (2A+C)x + 2A$$

$$5 = A + B$$

$$\boxed{B = 4}$$

$$0 = 2A + C \Rightarrow \boxed{C = -2}$$

$$2 = 2A \Rightarrow \boxed{A = 1}$$

$$\int \frac{5x^2 + 2}{x(x^2 + 2x + 2)} dx = \int \frac{1}{x} dx + \int \frac{4x - 2}{x^2 + 2x + 2} dx$$

$$= \ln x + \int \frac{4x + 4 - 4 - 2}{x^2 + 2x + 2} dx$$

$$= \ln x + \int \frac{4x + 4}{x^2 + 2x + 2} dx - \int \frac{6}{x^2 + 2x + 2} dx$$

$$x^2 + 2x + 2 = u \Rightarrow (2x + 2) dx = du \quad (3)$$

$$I = \ln x + 2 \cdot \ln(x^2 + 2x + 2) - 6 \int \frac{dx}{\underbrace{x^2 + 2x + 1}_{(x+1)^2} - 1 + 2}$$

$$= \ln x + 2 \cdot \ln(x^2 + 2x + 2) - 6 \int \frac{dx}{(x+1)^2 + 1}$$

$$= \ln x + 2 \ln(x^2 + 2x + 2) - 6 \cdot \arctan(x+1) + C$$

$$(5) \frac{x^3 + 7x^2}{(x+1)(x^2+2)^2} = \frac{A}{x+1} + \frac{Bx+C}{x^2+2} + \frac{Dx+E}{(x^2+2)^2}$$

Strategy for integration

Substitution (

Trig. substitution

Rationalizing Subs.

$$\int \frac{\sqrt{x}}{x-1} dx$$

$$\text{let } u = \sqrt{x} \Rightarrow du = \frac{1}{2\sqrt{x}} dx \Rightarrow (2u) du = dx$$

$$I = \int \frac{u}{u^2-1} \cdot 2u du = 2 \int \frac{u^2-1+1}{u^2-1} du$$

$$I = 2 \int \left[1 + \frac{1}{(u-1)(u+1)} \right] du \quad \left| \quad \frac{1}{(u-1)(u+1)} = \frac{A}{u-1} + \frac{B}{u+1} \right. \quad (4)$$

$$= 2 \left[u + \int \frac{1/2}{u-1} du + \int \frac{-1/2}{u+1} du \right] \quad = \frac{A(u+1) + B(u-1)}{(u-1)(u+1)}$$

$$= 2u + 2 \cdot \frac{1}{2} \cdot \ln|u-1| - 2 \cdot \frac{1}{2} \cdot \ln|u+1| + C$$

$$1 = A(u+1) + B(u-1)$$

$$A = 1/2$$

$$B = -1/2$$

$$= 2\sqrt{x} + \ln|\sqrt{x}-1| - \ln|\sqrt{x}+1| + C$$

$$= 2\sqrt{x} + \ln \left| \frac{\sqrt{x}-1}{\sqrt{x}+1} \right| + C$$

$$\underline{\underline{\int \arctan\left(\frac{1}{x}\right) dx}}$$

$$x = \cot \theta$$

$$dx = -\csc^2 \theta d\theta$$

$$(1) \quad \int \arctan\left(\frac{1}{\cot \theta}\right) (-\csc^2 \theta) d\theta = \int \theta \csc^2 \theta d\theta$$

$$(2) \quad \arctan\left(\frac{1}{x}\right) = u$$

↓

$$\frac{1}{1 + \left(\frac{1}{x^2}\right)} \cdot \left(-\frac{1}{x^2}\right) dx = du$$

$$\frac{1}{1+x^2} \cdot \left(-\frac{1}{x^2}\right) dx = du$$

$$dx = dv$$

$$x = v$$

$$I = x \cdot \arctan\left(\frac{1}{x}\right) - \int x \cdot \left(\frac{-1}{1+x^2}\right) dx$$

$$w = 1+x^2 \Rightarrow dw = 2x dx$$

$$= x \arctan\left(\frac{1}{x}\right) + \frac{1}{2} \cdot \ln(1+x^2) + C$$

EX: $\int \sin(\sqrt[3]{x}) dx = ?$